Operaciones con Nimeros Senarios (B)

12104
X 134

4215124|51¢

242
X 336

134054214

31204
X 41g

Calcule cada respuesta.

1112006| 24

1555404/32;

5525¢

X 36

5052504|53;

235312|34¢

4432
X 23g

2120456|316

203300643

1420244|52¢

1121444|524

154004/30;

3342
X 52

40204
X 546

210306|30¢

1220556
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Operaciones con Nimeros Senarios (B) Respuestas

12104
X 134

201304

4215124|51¢
5032

242
X 336
133104

134054214
425

31204
X 41g

2123205

Calcule cada respuesta.

1112006| 24
2413,

1555404324
3333,

55254
X 36
25423

5052504|53;
5342

235312|34¢
4202

4432
X 23g

1552205

212045d316
41154

203300443
2444,

1420244|52¢
1535

1121444|524
1215

154004|30
352

3342
X 52

311504

40204
X 546

3455204

21030430
421,

1220556
1401
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